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PHYSICS 
 

1. The majority charge carriers in P-type 

semiconductor are  

(a) Electrons     (b) Protons  

(c) Holes (d) Neutrons  
 

2. The intrinsic semiconductor becomes an 
insulator at  

(a) 0 C   (b) 100 C   

(c) 300 K   (d) 0 K  

 
3. What is the current in the circuit shown 

below 

 
(a) 0 amp (b) 2

10
 amp 

(c) 1 amp (d) 0.10 amp  
 

4. In the nth orbit, the energy of an electron 

n 2

13.6
E eV

n
  for hydrogen atom. The 

energy required to take the electron from 

first orbit to second orbit will be 
(a) 10.2 eV  (b) 12.1 eV  

(c) 13.6 eV  (d) 3.4 eV  
 

5. The mass number of a nucleus is  

(a) Always less than its atomic number  
(b) Always more than its atomic number  

(c) Always equal to its atomic number  

 (d) Sometimes more than and sometimes 

equal to its atomic number  
 

6. When a proton is accelerated with 1 volt 

potential difference, then its kinetic energy 
will be. 

(a) eV

1840

1
 (b) 1840 eV 

(c) 1 eV (d) 1840 c2 eV 
 

7. In an electron gun, the electrons are 

accelerated by the potential V.  If e is the 
charge and m is the mass of electron, then 

the maximum velocity of these electrons 

will be 

(a) 
m

eV2
 (b) 

m

eV2

 

(c) 
eV

m2

 (d) 
em

V

2

2

 

 

 

 

 

 

Hkk Sfrd foKku 

 

1. P-çdkj ds v)Zpkyd esa cgqla[;d vkos”k okgd 

gSa 

(a) bysDVªkWu (b) çksVkWu 

(c) gksy  (d) U;wVªkWu 

 

2. dksbZ fut v)Zpkyd fdl rki ij dqqpkyd tSlk 

O;ogkj djsxk 

(a) C0   (b) C100  

(c) K300   (d) K0  

 

3. uhps fn[kk, x, lfdZV esa djaV D;k gS\ 

 

 

(a) 0 amp (b) 2
10

 amp 

(c) 1 amp (d) 0.10 amp  

 
 

4. gkbMªkstu ijek.kq ds n  osa d{k esa ÅtkZ  

n 2

13.6
E eV

n
   gS] rks bysDVªkWu dks izFke d{k 

ls nwljh d{k esa Hkstus ds fy, vko”;d ÅtkZ 

gksxh    
(a) 10.2 eV  (b) 12.1 eV  

(c) 13.6 eV  (d) 3.4 eV  
 

5. ukfHkd dh nzO;eku la[;k   

(a) lnSo ijek.kq la[;k ls de gksrh gS  
(b) lnSo ijek.kq la[;k ls vf/kd jgrh gS  
(c) lnSo ijek.kq la[;k ds leku gksrh gS  

 (d) dHkh ijek.kq la[;k ls vf/kd] dHkh leku 

gksrh gS 

 

6. tc çksVkWu dks 1 oksYV ds foHkokUrj ls Rofjr 

fd;k tk;s rks bldh xfrt ÅtkZ gksxh  

(a) 
1

eV
1840

 (b) 1840 eV 

(c) 1 eV (d) 1840 c2 eV 

 

7. fdlh bysDVªkWu xu esa] bysDVªkWu V foHko ls Rofjr 

fd;s tkrs gSaA ;fn bysDVªkWu dk vkos”k e ,oa 

æO;eku m gS rks bu bysDVªkWuksa dk vf/kdre osx 

gksxk 

(a) 
m

eV2
 (b) 

m

eV2

 

(c) 
eV

m2

 (d) 
em

V

2

2

 

 
 

 

 

 – 4V 
PN 300 – 1V  – 4V 

PN 300 – 1V 
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8. A particle which has zero rest mass and 

non-zero energy and momentum must 

travel with a speed 
(a) Equal to c (the speed of light in 

vacuum) 

(b) Greater than c 

(c) Less than c 

(d) Tending to infinity 
 

9. Photon of 5.5 eV energy fall on the surface 
of the metal emitting photoelectrons of 

maximum kinetic energy 4.0 eV. The 

stopping voltage required for these 

electrons are 

(a) 5.5 V  (b) 1.5 V  
(c) 9.5 V  (d) 4.0 V  
 

10. Light appears to travel in straight lines 
since  

(a) It is not absorbed by the atmosphere 

(b) It is reflected by the atmosphere 

(c) Its wavelength is very small 

 (d) Its velocity is very large 
 

11. Two coherent monochromatic light beams 
of intensities I  and 4I are superposed. The 

maximum and minimum possible 

intensities in the resulting beam are 

(a) 5I and I (b) 5I and 3I 
 (c) 9I and I (d) 9I and 3I 
 

12. Young's experiment establishes that 

(a) Light consists of waves  

(b) Light consists of particles 

(c) Light consists of neither particles nor 
waves 

(d) Light consists of both particles and 

waves 
 

13. An object is placed 40cm  from a concave 

mirror of focal length 20cm.  The image 

formed is 

(a) Real, inverted and same in size 
(b) Real, inverted and smaller 

(c) Virtual, erect and larger 

(d) Virtual, erect and smaller 
 

14. The ratio of the refractive index of red light 

to blue light in air is 
(a) Less than unity 

(b) Equal to unity 

(c) Greater than unity 

 (d) Less as well as greater than unity 

depending upon the experimental 
arrangement 

 

8. ,d d.k fojke æO;eku 'kwU; vkSj ÅtkZ ,oa laosx 

v'kwU; gSaA bldh xfr gksxh 

(a) c ¼çdk”k dk fuokZr~ esa osx½ ds cjkcj 

(b) c ls vf/kd 

(c) c ls de 

(d) vuUr dh vksj vxzlj 

 
 

9. fdlh /kkfRod ì"B ij 5.5 eV  ÅtkZ ds QksVksuksa 

ds vkifrr gksus ls 4 eV  vf/kdre xfrt ÅtkZ 

ds QksVks bysDVªkWu mRlftZr gksrs gSaA bu 

bysDVªkWuksa ds fy, vko”;d fujks/kh foHko gS 

(a) 5.5 V  (b) 1.5 V  

(c) 9.5 V  (d) 4.0 V  

 
10. izdk'k lh/kh js[kkvksa esa xfr djrk gqvk izrhr 

gksrk gS] D;ksafd 

(a) ok;qe.My }kjk izdk'k dk vo'kks"k.k ugha gksrk 

gS 
(b) ok;qe.My }kjk bldk ijkorZu gksrk gS 
(c) mldh rjaxnS/;Z cgqr de gS 
(d) mldk osx cgqr vf/kd gS 
 

11. nks lqlaxr ,do.khZ; izdk'k fdj.kksa dh rhozrk,¡ 

Øe'k% I vkSj 4I gSa] buds v/;kjksi.k ls laiks’kh 

vkSj fouk”kh ij lEHko rhozrk;sa gksaxh 

(a) 5I and I (b) 5I and 3I 

(c) 9I and I (d) 9I and 3I 

 

12. ;ax ds iz;ksx ls fl) gksrk gS 

(a) izdk'k rjaxsa gksrh gSa  
(b) izdk'k esa d.k gksrs gSa 
(c) izdk'k esa u d.k gksrs gSa vkSj u gh rjaaxsa gksrh 

gSa 
(d) izdk'k esa d.k vkSj rjaxsa nksuksa gksrh gSa 

 

13. ,d vory niZ.k] ftldh Qksdl nwjh 20 lseh 

gS] ls 40 lseh nwj ,d oLrq j[kh tkrh gS 

çfrfcEc curk gS  
(a) okLrfod] mYVk ,oa leku vkdkj  
(b) okLrfod] mYVk ,oa NksVk  
(c) vkHkklh] lh/kk ,oa cM+k  
(d) vkHkklh] lh/kk ,oa NksVk 

 

14. yky vkSj uhys çdk”k ds fy;s viorZukad dk 

vuqikr gksrk gS 

(a) ,d ls de  
(b) ,d ds rqY; 
(c) ,d ls vf/kd  

 (d) ,d ls de vFkok vf/kd, çk;ksfxd O;oLFkk 

ij fuHkZj djrk gS 
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15. When a light wave goes from air into 

water,  the quality that remains unchanged 

is its 
 (a) Speed (b) Amplitude 

(c) Frequency (d) Wavelength 

 

16. When light is refracted from air into glass  

(a)  Its wavelength and frequency both 
increase 

(b)  Its wavelength increases but frequency 

remains unchanged  

(c) Its wavelength decreases but frequency 
remains unchanged 

(d) Its wavelength and frequency both 

decrease 
 

17. A  cut diamond sparkles because of its 

(a) Hardness  

(b) High refractive index 
(c) Emission of light by the diamond 

(d) Absorption of light by the diamond 

 

18. The peak value of 220 voltage  of ac mains 

is 
(a) 155.6 volts (b)  220.0 volts 

(c) 311.0 volts (d)  440 volts 

 
19. Reactance of a capacitor of capacitance 

C F  for ac frequency 
400


 Hz is 25 . The 

value C is 

(a) 50 F  (b) 25 F  

(c) 100 F  (d) 75 F  
 

20. The power factor of an ac circuit having 

resistance (R) and inductance (L) 

connected in series and an angular 
frequency   is  

(a) R / L                  (b) 2 2 2 1/2R /(R L )  

(c) L /R                  (d) 2 2 2 1/2R /(R L )  

 

21. The temperature coefficient of resistance 

for a wire is 0.00125 / C . At 300K its 

resistance is 1 ohm. The temperature at 

which the resistance becomes 2 ohm is 

(a) 600 K (b) 1100 K 
(c) 1400 K  (d) 400 K 
 

22. Three resistors each of 2  are connected 
together in a triangular shape. The 

resistance between any two vertices will be 

(a) 4/3  (b) 3/4  

(c) 3  (d) 6  

15. tc ,d çdk”k rjax ok;q ls ikuh esa tkrh gS rks 

mldk dkSulk fuEu xq.k vifjofrZr jg tkrk gS 

(a) osx  (b) vk;ke 

(c) vkof̀Ùk  (d) rjaxnS/;Z 
 
 

16. tc çdk”k ok;q ls dk¡p esa viofrZr gksrk gS rks  
(a)  bldh rjaxnS/;Z vkSj vkof̀Ùk nksuksa c<+rs gSa 

(b) bldh rjaxnS/;Z c<+rh gS ysfdu vkòfÙk ogh 

jgrh gS 

(c) bldh rjaxnS/;Z ?kVrh gS ysfdu vkof̀Ùk ogh 

jgrh gS 

(d)  bldh rjaxnS/;Z vkSj vkof̀Ùk nksuksa ?kVrh gS 

 
 

17. ,d rjk”kk gqvk ghjk vf/kd pedrk gS, bldk 

dkj.k gS, mldk 

(a) dBksj gksuk  
(b) mPp viorZukad 
(c) ghjs }kjk çdk”k dk mRltZu 
(d) çdk’k dk vo'kks"k.k 

 

18. çR;korhZ lzksr 220 volts ds foHko dk f'k[kj eku 

gksxk 

(a) 155.6 volts (b)  220.0 volts 

(c) 311.0 volts (d)  440 volts 
 

19. 
400


 Hz vkòfÙk dh ac lIykbZ ij ,d C F  

/kkfjrk okys la/kkfj= dk çfr?kkr 25  gSA C  
dk eku gS  

(a) 50 F  (b) 25 F  

(c) 100 F  (d) 75 F  
 

20. ,d ac ifjiFk esa çfrjks/k R ,oa çsjdRo L Js.khØe 

esa tqM+s gSaA ;fn ifjiFk dh dks.kh; vkòfÙk   gS 
rks bldk 'kfä xq.kkad gS 

(a) R / L           (b) 2 2 2 1/2R /(R L )  

 (c) L /R           (d) 2 2 2 1/2R /(R L )  

 

21. ,d rkj dk izfrjks/k rki xq.kkad 0.00125 / C  
gSA 300K ij bldk izfrjks/k 1 gSA fuEu esa ls 

fdl rki ij izfrjks/k 2  gksxk 

(a) 600K (b) 1100 K 

(c) 1400 K  (d) 400 K 

   

22. nks-nks  ds rhu izfrjks/k f=Hkqt ds vkdkj esa 

la;ksftr gSaA f=Hkqt ds fdUgh nks 'kh"kZ fcUnqvksa ds 

e/; izfrjks/k gksxk 

(a) 4/3  (b) 3/4  

(c) 3  (d) 6  
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23. The magnetic induction at the centre O in 

the figure shown is 

(a) 












21

0
11

4 RR

i   

(b) 












21

0
11

4 RR

i  

(c) )(

4
21

0
RR

i


   

(d) )(

4
21

0
RR

i


  

 
 

24. An electron has mass 319 10 kg  and 

charge 191.6 10 C  is moving with a 

velocity of sm /10
6 , enters a region where 

magnetic field exists. If it describes a circle 
of radius 0.10 m, the intensity of magnetic 

field must be 

(a) 41.8 10 T  (b) 55.6 10 T  

(c) 514.4 10 T  (d) 61.3 10 T  
 

25. A charge +Q is moving upwards 

vertically. It enters a magnetic field 

directed to the north. The force on the 

charge will be towards 
(a) North (b) South 

(c) East (d) West 

 

CHEMISTRY 
 

26. A solution containing 12.5 g of non-
electrolyte substance in 185 g of water 
shows boiling point elevation of 0.80 K. 
Calculate the molar mass of the substance. 
(Kb = 0.52 K kg mol-1) 

(a) 153.06g mol  (b) 125.3gmol  

(c) 116.08gmol  (d) 143.92g mol  
 

27. A solution containing 10.2 g glycerine per 
litre is isotonic with a 2% solution of 
glucose. What is the molecular mass of 
glycerine? 
(a) 91.8 g  (b) 1198 g  
(c) 83.9 g  (d) 890.3 g 
 

28. 0E values for the half cell reactions are 

given below: 
2 0Cu e Cu ;E 0.15V      

2 0Cu 2e Cu;E 0.34V     

What will be the 0E of the half-cell :  

Cu+ + e-  Cu? 
(a) +0.49 V  (b) +0.19 V 
(c) +0.53 V  (d) +0.30 V 

23. layXu fp= esa dsUnz O ij pqEcdh; {ks= dh 

rhozrk gksxh 

(a) 












21

0
11

4 RR

i   

(b) 












21

0
11

4 RR

i  

(c) )(

4
21

0
RR

i


   

(d) )(

4
21

0
RR

i


  

 

24. ,d bysDVªkWu ¼ftldk æO;eku 
319 10 kg  ,oa 

vkos'k 
191.6 10 C gS) 610 m /s ds osx ls 

pqEcdh; {ks= esa ços'k djrk gSA ;fn ;g 0.10 m 
f=T;k dk òÙk cukrk gS] rks pqEcdh; {ks= dk 

eku gksxk 

(a) 41.8 10 T  (b) 55.6 10 T  

(c) 514.4 10 T  (d) 61.3 10 T  

 

25. ,d vkos'k +Q ry ds yEcor Åij dh vksj 

xfr'khy gSA ;g vkos'k fdlh pqEcdh; {ks= eas 

tkrk gS ftldh fn'kk mÙkj dh vksj gSA vkos'k 

ij vkjksfir cy dh fn'kk gksxh 

(a)  mÙkj dh vksj (b) nf{k.k dh vksj 
(c) iwoZ dh vksj (d) if'pe dh vksj 

 

jlk;u foKku 

 

26. 185 xzke ikuh esa 12.5 xzke xSj&bysDVªksykbV 

inkFkZ okyk ?kksy 0.80 K dk DoFkukad mUu;u 

n'kkZrk gSA inkFkZ ds nk<+ æO;eku dh x.kuk djsaA 

(Kb = 0.52 K kg mol-1) 

(a) 153.06g mol  (b) 125.3gmol  

(c) 116.08gmol  (d) 143.92g mol  

 
27. 10.2 xzke fXyljhu çfr yhVj okyk ?kksy Xywdkst 

ds 2% ?kksy ds lkFk vkblksVksfud gksrk gSA 

fXyljhu dk vk.kfod æO;eku fdruk gksrk gS\ 

(a) 91.8 g  (b) 1198 g  

(c) 83.9 g  (d) 890.3 g 

 

28. 0E v/kZ lsy çfrfØ;kvksa ds eku uhps fn, x, gSaA 

2 0Cu e Cu ;E 0.15V      
2 0Cu 2e Cu;E 0.34V     

0E v/kZ&lsy dk D;k gksxkA 

Cu+ + e-  Cu 

(a) +0.49 V  (b) +0.19 V 
(c) +0.53 V  (d) +0.30 V 

 

 

R1 

O 

R2 
 

R1 

O 

R2 
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29. Cell reaction is spontaneous, when 

(a) 0
redE is negative (b) 0G is negative 

(c) 0
oxidE is positive (d) 0G is positive 

 

30. 0G for the reaction, 
2 2Cu Fe Fe Cu     is 

(Given : 2 2

0 0

Cu |Cu Fe |Fe
E 0.34V,E 0.44V)      

(a) 11.44 kJ  (b) 180.8 kJ 

(c) 150.5 kJ  (d) 28.5 kJ 

 
31. When a lead storage battery is discharged, 

(a) lead sulphate is consumed 

(b) oxygen gas is evolved 

(c) lead sulphate is formed 
(d) lead sulphide is formed 

 

32. For the reaction 2 2 3N 3H 2NH ,  how 

are the rate of reaction expressions inter-

related 2d[H ]

dt
and 3d[NH ]

?
dt

 

(a) 2 3d[H ] d[NH ]1 1

3 dt 2 dt
    

(b) 2 3d[H ] d[NH ]1 1

2 dt 3 dt
    

(c) 2 3d[H ] d[NH ]1 1

2 dt 3 dt
    

(d) 2 3d[H ] d[NH ]1 1

3 dt 2 dt
    

 

33. For a reaction X Y, the rate of reaction 

becomes twenty seven times when the 

concentration of X is increased three times. 
What is the order of the reaction? 

(a) 2 (b) 1 (c) 3 (d) 0 

 

34. The unit of rate and rate constant are same 

for a  
(a) zero order reaction 

 (b) first order reaction 

(c) second order reaction 

(d) third order reaction 
 

35. The correct order of number of unpaired 

electrons is 

(a) Cu2+ > Ni2+ > Cr3+ > Fe3+ 

(b) Ni2+ > Cu2+ > Fe3+ > Cr3+ 
(c) Fe3+ > Cr3+ > Ni2+ > Cu2+ 

(d) Cr3+ > Fe3+ > > Ni2+ > Cu2+ 

 

 

29. dksf'kdk çfrfØ;k Lor%LQwrZ gksrh gS] tc 

(a) 0
redE udkjkRed gS  (b) 0G udkjkRed gS 

(c) 0
oxidE ldkjkRed gS  (d) 0G ldkjkRed gS 

 

30. 0G çfrfØ;k ds fy, 

2 2Cu Fe Fe Cu    ] gS 

¼ 2 2

0 0

Cu |Cu Fe |Fe
E 0.34V,E 0.44V)     fn;k x;k  

(a) 11.44 kJ  (b) 180.8 kJ 

(c) 150.5 kJ  (d) 28.5 kJ 

 

31. tc ,d ysM LVksjst cSVjh fMLpktZ gks tkrh gS] 

(a) ysM lYQsV dk lsou fd;k tkrk gS 

(b) v‚Dlhtu xSl fodflr gksrh gS 

(c) ysM lYQsV curk gS 

(d) ysM lYQkbM curk gS 

 

32. çfrfØ;k ds fy, 2 2 3N 3H 2NH ,   

çfrfØ;k vfHkO;fä;ksa dh nj dSls ijLij lacaf/kr 

gSa 
2d[H ]

dt
vkSj 

3d[NH ]
?

dt
 

(a) 2 3d[H ] d[NH ]1 1

3 dt 2 dt
    

(b) 2 3d[H ] d[NH ]1 1

2 dt 3 dt
    

(c) 2 3d[H ] d[NH ]1 1

2 dt 3 dt
    

(d) 2 3d[H ] d[NH ]1 1

3 dt 2 dt
    

 

33. fdlh X Y, çfrfØ;k ds fy, X dh lkaærk 

rhu xquk c<+kus ij çfrfØ;k dh nj lÙkkbZl xquk 

gks tkrh gSA çfrfØ;k dk Øe D;k gS\ 

(a) 2 (b) 1 (c) 3 (d) 0 

 

 

34. nj dh bdkbZ vkSj nj fLFkjkad ,d ds fy, leku 

gSa 

(a) 'kwU; Øe çfrfØ;k 

(b) çFke Øe çfrfØ;k 

(c) nwljs Øe dh çfrfØ;k 

(d) rhljs Øe dh çfrfØ;k 

 

35. v;qfXer bysDVª‚uksa dh la[;k dk lgh Øe gS 

(a) Cu2+ > Ni2+ > Cr3+ > Fe3+ 

(b) Ni2+ > Cu2+ > Fe3+ > Cr3+ 

(c) Fe3+ > Cr3+ > Ni2+ > Cu2+ 

(d) Cr3+ > Fe3+ > > Ni2+ > Cu2+ 
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36. When MnO2 is fused with KOH and O2, 

what is the product formed and its colour? 

MnO2 + KOH + O2  ?_______ +H2O 

(a) MnO – colourless  
(b) KMnO4 – purple 

(c) K2MnO4 – dark green 

(d) MnO3 – black 

 

37. According to Werner’s theory of 
coordination compounds, 

(a)  primary valency is ionisable 

(b)  secondary valency is ionisable 

(c) primary and secondary valencies are 
ionisable 

(d) neither primary nor secondary valency 

is ionisable 

 

38. The correct IUPAC name of the 
coordination compound K3[Fe(CN)5NO] is 

(a) potassium pentacyanonitrosylferrate 

(II) 

(b) potassium pentacyanonitroferrate (III) 

(c) potassium nitritopentacyanoferrate (IV) 
(d) potassium nitritepentacyanoiron (II) 

 

39. A compound X with molecular formula 

C7H8 is treated with Cl2 in presence of 
FeCl3. Which of the following compounds 

are formed during the reaction? 

 

 

(a)    
 

 

 

 
(b)  

 

 

 

 
(c)   

 

 

 

(d) 
 

 

 

 
 

36. tc MnO2 dks KOH vkSj O2 ds lkFk feyk;k 

tkrk gS] rks D;k mRikn curk gS vkSj mldk jax 

D;k gksrk gS\ 

MnO2 + KOH + O2  ?_______ +H2O 

(a) MnO  & jaxghu 
(b) KMnO4 & cSaxuh 

(c) K2MnO4 & xgjk gjk 

(d) MnO3 & dkyk 

37. ouZj ds leUo; ;kSfxdksa ds fl)kar ds vuqlkj] 

(a) çkFkfed la;kstdrk vk;uuh; gS 

(b) f}rh;d la;kstdrk vk;uuh; gS 

(c) çkFkfed vkSj ek/;fed la;kstdrk,a vk;uuh; 

gSa 

(d) u rks çkFkfed vkSj u gh f}rh;d la;kstdrk 

vk;uuh; gS 

 

 

38. leUo; ;kSfxd K3Fe(CN)5NO] dk lgh 

IUPAC uke gS 

(a) iksVsf'k;e isaVslk;uksfuVªksflyQsjsV (II) 

(b) iksVsf'k;e isaVslk;uksfuVªksQsjsV (III) 

(c) iksVsf'k;e ukbfVªVksisaVslk;uksQsjsV (IV) 

(d) iksVsf'k;e ukbVªkbVisaVlk;uksbjksu (II) 

 

 

39. vk.kfod lw= C7H8 okys ,d ;kSfxd X dks 

FeCl3 dh mifLFkfr esa Cl2 ls mipkfjr fd;k 

tkrk gSA fuEufyf[kr esa ls dkSu lk ;kSfxd 

çfrfØ;k ds nkSjku curk gS\ 

 

 
(a)  

 

 
 

 

(b) 

 
 

 

 

(c) 
 

 
 

 

(d)  
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40. Alkyl halides are immiscible in water 

though they are polar because 

(a)  they react with water to give alcohols 

(b)  they cannot form hydrogen bonds with 

water 

(c)  C – X bond cannot be broken easily 

(d) they are stable compounds and are not 

reactive. 

 
41. The major product obtained on interaction 

of phenol with sodium hydroxide and 

carbon dioxide is 

(a) benzoic acid (b) salicylaldehyde 

(c) salicylic acid (d) phthalic acid 
 

42. An alcohol X on heating with concentrated 

H2SO4 gives an alkene Y which can show 

geometrical isomerism. The alcohol X is 

(a) CH3CH2CH(OH)CH3 
(b) (CH3)2C(OH)CH(CH3)2 

(c) (CH3)3C (OH) 

(d) (CH3)2C (OH)CH2CH3 

 
43. Which of the following aldehydes will 

show Cannizzaro reaction? 

(a) HCHO  (b) C6H5CHO 

(c) (CH3)3CCHO (d) All of these 

 
44. The correct order of increasing acidic 

strength is _____. 

(a) phenol < ethanol < chloroacetic acid                    

< acetic acid 
(b) ethanol < phenol < chloroacetic acid < 

acetic acid 

(c) ethanol < phenol < acetic acid < 

chloroacetic acid 

(d) chloracetic acid < acetic acid < phenol < 
ethanol 

 

45. Which of the following has highest pKb 

value? 
(a) (CH3)3CNH2 (b) NH3 

(c) (CH3)2NH (d) CH3NH2 
 

46. Among the following, 
(I) CH3NH2  (II) (CH3)2NH 

(III) (CH3)3N (IV) C6H5NH2 

Which will give the positive carbylamine 

test? 
(a) I and II  (b) I and IV 

(c) II and IV  (d) II and III 
 

40. ,sfYdy gSykbM /#oh; gksrs gq, Hkh ty esa 

vfeJ.kh; gksrs gSa D;ksafd 

(a) os ikuh ds lkFk çfrfØ;k djds vYdksgy nsrs 

gSa 

(b) os ikuh ds lkFk gkbMªkstu ckaM ugha cuk 

ldrs gSa 

(c) C – X ca/ku vklkuh ls ugha rksM+k tk ldrk 

gS 

(d) os fLFkj ;kSfxd gSa vkSj çfrfØ;k'khy ugha gSaA 

 

41. fQuksy dh lksfM;e gkbMª‚DlkbM rFkk dkcZu 

Mkbv‚DlkbM ds lkFk ijLij fØ;k djus ij çkIr 

gksus okyk çeq[k mRikn gS 

(a) csatksbd ,flM  (b) lSfyflySfYMgkbM 

(c) lSfyflfyd ,flM  (d) QsFkfyd ,flM 

 

42. ,d vYdksgy X dks lkUnz H2SO4  ds lkFk xeZ 

djus ij ,d ,Ydhu Y fn;k tkrk gS] rks 

T;kfefr; le:irk fn[krk gSA rks ,Ydksgy X gSA 

(a) CH3CH2CH(OH)CH3 

(b) (CH3)2C(OH)CH(CH3)2 

(c) (CH3)3C (OH) 

(d) (CH3)2C (OH)CH2CH3 

 

43. ,fuEufyf[kr esa ls dkSu lk ,fYMgkbM dSfutkjks 

çfrfØ;k fn[kk,xk\ 

(a) HCHO  (b) C6H5CHO 

(c) (CH3)3CCHO (d) ;s lHkh 

 

44. vEyh; 'kfä c<+us dk lgh Øe _____ gSA 

(a) fQuksy < bFksu‚y < Dyksjks,lsfVd ,flM 

<,flfVd ,flM 

(b) bFksu‚y < fQuksy < Dyksjks,lsfVd ,flM < 

,flfVd ,flM 

(c) bFksu‚y < fQuksy < ,flfVd ,flM < 

Dyksjks,lsfVd ,flM 

(d) DyksjSflfVd ,flM < ,flfVd ,flM < 

fQuksy < bFksu‚y 

 

45. fuEufyf[kr esa ls fdldk pKb eku lcls vf/kd 

gS\ 

(a) (CH3)3CNH2 (b) NH3 
(c) (CH3)2NH (d) CH3NH2 

 

 

46. fuEufyf[kr esa ls] 

(I) CH3NH2  (II) (CH3)2NH 

(III) (CH3)3N (IV) C6H5NH2 

tks ldkjkRed dkfcZykekbu ijh{k.k nsxk\ 

(a) I and II  (b) I and IV 

(c) II and IV (d) II and III 
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47. The anomeric carbon in D(+) glucose is 

(a) C-1 carbon (b) C-2 carbon 

(c) C-5 carbon (d) C-6 carbon 
48. Cellulose is a  

(a) hexapolysaccharide  

(b) pentapolysaccharide 

(c) tripolysaccharide 

(d) none of these  
 

49. The first ionisation enthalpy of the 

elements are in the order of 

(a) C < N < Si < P (b) N < Si < C < P 
(c) Si < P < C < N (d) P < Si < N < C 

 

50. Which of the following relationships is not 

correct for the relation between H and 

U ? 

(a) When gn 0  then H U   

(b) When gn 0  then H U   

(c) When gn 0  then H U   

(d) When gn RT 0  then H U   
 

MATHEMATICS 
 

51. If the set A contains 7 elements and the set 
B contains 10 elements, then the number 

one-one functions from A to B is 

(a) 10
7C   (b) 10

7C 7!   

(c) 107   (d) 710  
 

52. If 2 2  g(x) x x and  

gof (x) x x ,  21
2 5 2

2
 then f (x) is equal 

to 

(a) x 2 3   (b) x 2 3   

(c) x x 22 3 1  (d) x x 22 3 1 
 

53. The domain of    

x 1 2cos ( 4) is 

(a)  3,5    

(b)  1,1   

(c)         5, 3 3, 5    

(d)         5, 3 3, 5  
 

54. The value of   
 

 

1 13 1
tan cos tan

5 4
is 

(a) 
19

8
 (b) 

8

19
 (c) 

19

12
 (d) 

3

4
 

 

47. D(+) Xywdkst esa ,uksesfjd dkcZu gS 

(a) C-1 dkcZu (b) C-2 dkcZu 

(c) C-5 dkcZu  (d) C-6 dkcZu 

 

48. lsywykst gS ,d 

(a) gsDlki‚yhlsdsjkbM 

(b)isaVki‚yhlsdsjkbM 

(c) f=iksyhlsdsjkbM 

(d) buesa ls dksbZ ugha 

 

49. rRoksa dh çFke vk;uu ,UFkSYih fdl Øe esa gS\ 

(a) C < N < Si < P (b) N < Si < C < P 

(c) Si < P < C < N (d) P < Si < N < C 
 

50. fuEufyf[kr esa ls dkSu lk laca/k H vkSj U  

ds chp ds laca/k ds fy, lgh ugha gS\ 

(a) gn 0  fQj H U  dc 

(b) gn 0   fQj H U  dc 

(c) gn 0  fQj H U  dc 

(d) gn RT 0  fQj H U  dc 

 

xf.kr 
 

51. ;fn lsV A esa 7 rRo gSa vkSj lsV B esa 10 rRo 

gSa] rks  A ls B rd uacj ,d&,d QaD'ku gS 

(a) 10
7C   (b) 10

7C 7!   

(c) 107   (d) 710  
 

 

52. ;fn 
2 2  g(x) x x  vkSj  

gof (x) x x ,  21
2 5 2

2
 rc f (x)ds cjkcj gS 

(a) x 2 3   (b) x 2 3   

(c) x x 22 3 1  (d) x x 22 3 1  
 

 

53. x 1 2cos ( 4)  dk izkar gksxkA  

(a)  3,5    

(b)  1,1   

(c)         5, 3 3, 5    

(d)         5, 3 3, 5  

 
 

54. 
  

 
 

1 13 1
tan cos tan

5 4
 dk eku D;k gksxkA 

(a) 
19

8
 (b) 

8

19
 (c) 

19

12
 (d) 

3

4
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55. If A is a square matrix such that 

A A,2 then (I A) A 3 7 is equal to 

(a) A (b) I A  (c) I (d) 3A 

 

56. If A is a square matrix such that A I ,2  

then (A I) (A I) A   3 3 7 is equal to 

(a) A  (b) I A   

(c) I A   (d) 3 A 
 

 

57. Let 

cosx x

f (x) sinx x x ,

sinx x x



1

2 2  then 
x

f (x)
lim

x 20
is 

equal to 

(a) 0 (b) 1  (c) 2 (d) 3 
 

58. The value of n n n

n n n

C C C

C C C

 

 

2 4
1 1 1

2 4
2 2 2

1 1 1

is 

(a) 2 (b) 4 (c) 8 (d) n2  

59. Let 

x
a , x

|x |

f (x) a b , x

x
b , x

|x |


  


  
 
  



4
4

4

4

4
4

4

. Then, f(x) 

is continuous at x = 4 when 

(a) a = 0, b = 0 (b) a = 1, b = 1 

(c) a = 1, b = 1 (d) a = 1, b = 1 

 

 

60. If 

log( ax) log( bx)
, x

f (x) x
k , x

  


 
 

1 1
0

0

 

and f (x) is continuous at x = 0, then the 

value of k is 

(a) a b   (b) a b   

(c) log a logb  (d) none of these 

 

61. The function f (x) sin (cosx) 1 is 

(a) discontinuous at x = 0 

(b) continuous at x = 0 

(c) differentiable at x = 0 

(d) none of these 

 
 

 

 

 

55. ;fn A ,d oxkZdkj vkO;wg gS] tks A A,2
rc 

(I A) A 3 7 ds cjkcj gS 

(a) A (b) I A  (c) I (d) 3A 

 

56. ;fn A ,d oxkZdkj vkO;wg gS] tks A I ,2
rc 

(A I) (A I) A   3 3 7 ds cjkcj gS 

(a) A  (b) I A   
(c) I A   (d) 3 A 

 

57. eku yhft, 

cosx x

f (x) sinx x x ,

sinx x x



1

2 2 rc 

x

f (x)
lim

x 20
 cjkcj gS 

(a) 0 (b) 1  (c) 2 (d) 3 
 

58. n n n

n n n

C C C

C C C

 

 

2 4
1 1 1

2 4
2 2 2

1 1 1

dk eku gS 

(a) 2 (b) 4 (c) 8 (d) n2  

 

59. 

x
a , x

|x |

f (x) a b , x

x
b , x

|x |


  


  
 
  



4
4

4

4

4
4

4

 rc] f(x) ij 

lrr gS tc x ¾ 4  
(a) a = 0, b = 0 (b) a = 1, b = 1 

(c) a = 1, b = 1 (d) a = 1, b = 1 

 

60. ;fn 

log( ax) log( bx)
, x

f (x) x
k , x

  


 
 

1 1
0

0

  

f (x)  ¾ 0 ij rFkk lrr gS] x = 0 rks k dk eku 

gS 

(a) a b   (b) a b   

(c) log a logb  (d) buesa ls dksbZ ugha 

 

61. Qyu f (x) sin (cosx) 1
gS 

(a) x = 0 ij vlarr 

(b) x = 0 ij fujarj 

(c) x = 0 ij vodyuh; 

(d) buesa ls dksbZ ugha 
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62. If siny xcos(a y),  then 
dy

dx
is equal to 

(a) 
cos (a y)

cosa

2

 (b) 
cosa

cos (a y)2
 

(c) 
sin y

cosa

2

  (d) none of these 

 

63. If 
sinx cosx

y tan ,
cosx sinx

  
  

 

1 then 
dy

dx
is equal 

to 

(a) 
1

2
  (b) 0  

(c) 1  (d) none of these  
 

64. If y a bx ,a,b  2 is arbitrary constants, 

then 

(a) 
d y

xy
dx


2

2
2  (b) 

d y
x y

dx


2

12
 

(c) 
d y dy

x y
dx dx

  
2

2
0  (d) 

d y
x xy

dx


2

2
2  

 

65. The distance moved by the particle in time 

t is given  by x t t t .   3 212 6 8  At the 
instant when its acceleration is zero, the 

velocity is 
(a) 42 (b) 42  (c) 48 (d) 48  

 

66. The radius of a sphere is increasing at the 

rate of 0.2 cm/sec. The rate at which the 

volume of the sphere increases when 
radius is 15 cm, is 

(a) cm / sec 312  (b) cm / sec 3180  

(c) cm / sec 3225  (d) cm / sec 33  
 

67. The equation of the normal to the curve 

x acos ,y asin   3 3 at the point /  4 is 

(a) x = 0  (b) y = 0  

(c) x = y  (d) x + y = a  

 

68. The angle of intersection of the parabolas 

y ax2 4 and x ay2 4 at the origin is 

(a) / 6   (b) / 3   

(c) / 2   (d) / 4  

 

69. If f (x) ,
x x


 2

1

4 2 1
then its maximum 

value is 

(a) 
4

3
 (b) 

2

3
 (c) 1 (d) 

3

4
 

 

62. ;fn siny xcos(a y),  rc 
dy

dx
ds cjkcj gS 

(a) 
cos (a y)

cosa

2

 (b) 
cosa

cos (a y)2
 

(c) 
sin y

cosa

2

  (d) buesa ls dksbZ ugha 

 

63. ;fn 
sinx cosx

y tan ,
cosx sinx

  
  

 

1
rc 

dy

dx
ds cjkcj 

gS 

(a) 
1

2
  (b) 0  

(c) 1  (d) buesa ls dksbZ ugha 

 

64. ;fn y a bx ,a,b  2
euekuk fLFkjkad gS] rks 

(a) 
d y

xy
dx


2

2
2  (b) 

d y
x y

dx


2

12
 

(c) 
d y dy

x y
dx dx

  
2

2
0  (d) 

d y
x xy

dx


2

2
2  

 

65. le; t esa oLrq }kjk r; dh xbZ nwjh 

x t t t .   3 212 6 8  bl çdkj nh xbZ gS: ml 

{k.k tc bldk Roj.k 'kwU; gS] osx gS 

(a) 42 (b) 42  (c) 48 (d) 48  

 

 

66. ,d xksys dh f=T;k 0.2 lseh/lsd.M dh nj ls 

c<+ jgh gSA f=T;k 15 lseh gksus ij xksys dk 

vk;ru fdl nj ls c<+rk gS\ 

(a) cm / sec 312  (b) cm / sec 3180  

(c) cm / sec 3225  (d) cm / sec 33  

 
 

67. fcUnq x acos ,y asin   3 3
ij oØ ds vfHkyEc 

dk /  4 lehdj.k gS 

(a) x = 0  (b) y = 0  

(c) x = y  (d) x + y = a  
 

68. ijoy;ksa dk y ax2 4 rFkk x ay2 4 ewy fcanq 

ij çfrPNsnu dks.k gS 

(a) / 6   (b) / 3   

(c) / 2   (d) / 4  

 

69. ;fn f (x) ,
x x


 2

1

4 2 1
gS rks bldk vf/kdre 

eku gS 

(a) 
4

3
 (b) 

2

3
 (c) 1 (d) 

3

4
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70. f (x) sinx cos x, x


    2 2
1 2 3 0

3
 is 

(a) Minimum at x /  2  

(b) Maximum at x sin ( / ) 1 1 3  

(c) Minimum at x /  6  

(d) Maximum at sin ( / )1 1 6  

 

71. dx
cosx sinx


1

3
is equal to 

(a) 
x

logtan C
 
  

 3 2
  

(b) 
x

logtan C
 

  
 2 3

 

(c) 
x

logtan C
 

  
 

1

2 2 3
 

(d) none of these 

 
 

72. x sinx
e dx

cosx

 
 

 
1

1
 

(a) x x
e tan C 

2
 (b) x x

e cot C 
2

 

(c) x x
e tan C 

1

2 2
 (d) x x

e cot C 
1

2 2
 

 

73. x

,
e dx

x x

 
 

 
2

2

1 1
 

(a) 
e

e
2

2
  (b) 

e
e

2

2
 

(c) 
e

e
2

2
  (d) None 

 
74. Find the projection of the the line joining 

(1, 2, 3) and ( , , )1 4 2 on the line having 

direction ratio 2, 3, 6 

(a) 
7

8
 (b) 

7

8
 (c) 

8

7
 (d) 

8

7
 

 
75. A boy continuis 5 red and 5 green balls 

and another boy contains 5 black and 4 

white balls. If one ball is drawn from each 

of the two boys. What is the probability of 

drawing a red ball from first boy and a 
black ball from second boy. 

(a) 
4

9
 (b) 

5

9
 (c) 

20

81
 (d) 

1

2
 

 

70. f (x) sinx cos x, x


    2 2
1 2 3 0

3
 gS 

(a) x /  2 U;wure ij 

(b) x sin ( / ) 1 1 3 vf/kdre ij 

(c) x /  6 U;wure ij 

(d) sin ( / )1 1 6 vf/kdre ij 

 

 

71. dx
cosx sinx


1

3
ds cjkcj gS 

(a) 
x

logtan C
 
  

 3 2
  

(b) 
x

logtan C
 

  
 2 3

 

(c) 
x

logtan C
 

  
 

1

2 2 3
 

(d) buesa ls dksbZ ugha 

 

72. x sinx
e dx

cosx

 
 

 
1

1
 

(a) x x
e tan C 

2
 (b) x x

e cot C 
2

 

(c) x x
e tan C 

1

2 2
 (d) x x

e cot C 
1

2 2
 

 

 

73. x

,
e dx

x x

 
 

 
2

2

1 1
 

(a) 
e

e
2

2
  (b) 

e
e

2

2
 

(c) 
e

e
2

2
  (d) dksbZ ugha 

 

74. fn'kk vuqikr 2, 3, 6 okyh js[kk ij (1, 2, 3) 

vkSj ( , , )1 4 2 dks tksM+us okyh js[kk dk ç{ksi.k 

Kkr dhft,A 

(a) 
7

8
 (b) 

7

8
 (c) 

8

7
 (d) 

8

7
 

 

75. ,d yM+ds ds ikl 5 yky vkSj 5 gjh xsansa gSa vkSj 

nwljs yM+ds ds ikl 5 dkyh vkSj 4 lQsn xsansa 

gSaA ;fn nksuksa yM+dksa esa ls çR;sd ls ,d xsan 

fudkyh tkrh gSA igys yM+ds ls yky xsan vkSj 

nwljs yM+ds ls dkyh xsan fudyus dh çkf;drk 

D;k gS\ 

(a) 
4

9
 (b) 

5

9
 (c) 

20

81
 (d) 

1

2
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Biology thofoKku 

51. During microsporogenesis, meiosis occurs 

in 

(a) endothecium  

(b) microspore mother cells 
(c) microspore tetrads 

(d) pollen grains 

 

 
52. From among the sets of terms given below, 

identify those that are associated with the 

gynoecium. 

(a) Stigma, ovule, embryo sac, placenta 

(b) Thalamus, pistil, style, ovule 
(c) Ovule, ovary, embryo sac, tapetum 

(d) Ovule, stamen, ovary, embryo sac 

 

53. Which one of the following is not a male 

accessory gland? 
(a) Seminal vesicle  

(b) Ampulla 

(c) Prostate   

(d) Bulbourethral gland 
 

54. Which of the following hormones is not 

secreted by human placenta? 

(a) hCG  (b) Estrogens 

(c) Progesterone (d) LH 
 
 

55. Conditions of a karyotype 2n  1 and                     
2n   2 are called  

(a) aneuploidy (b) polyploidy 

(c) allopolyploidy (d) monosomy 
 

56. In sickle cell anaemia glutamic acid is 

replaced by valine. Which one of the 

following triplets codes for valine? 
(a) G G G  (b) A A G  

(c) G A A  (d) G U G 

57. Occasionally, a single gene may express 

more than one effect. The phenomenon is 

called 
(a) multiple allelism (b) mosaicism 

(c) pleiotropy (d) polygeny 
 

58. In the F2 generation of a Mendelian 

dihybrid cross the number of phenotypes 

and genotypes are 

(a) phenotypes-4; genotypes-16 
(b) phenotypes-4; genotypes-4 

(c) phenotypes-4; genotypes-8 

(d) phenotypes-4; genotypes-9 

51. ekbØksLiksjkstsusfll ds nkSjku v/kZlw=hfoHkktu 

gksrk gS 

(a) ,aMksFksfl;e  

(b) ekbØksLiksj ekr ̀dksf'kdk,a 

(c) ekbØksLiksj VsVªkM 

(d) ijkxd.k 

 

 

52. uhps fn, x, 'kCnksa ds lewg esa ls mu 'kCnksa dh 

igpku djsa tks xkbuksbfd;e ls lacaf/kr gSaA 

(a) dyad] chtkaM] Hkwz.k FkSyh] uky 

(b) FkSysel] L=hdslj] LVkby] chtkaM 

(c) vaMk.kq] vaMk'k;] Hkwz.k FkSyh] VsisVe 

(d) chtkaM] iqadslj] vaMk'k;] Hkwz.k FkSyh 

 

53. fuEufyf[kr esa ls dkSu lh iq#"k lgk;d xzafFk 

ugha gS\ 

(a) oh;Z iqfVdk  

(b) vEiqYyk 

(c) çksLVsV   

(d) cYckSjsFkzy xzafFk 

 

 

54. fuEufyf[kr esa ls dkSu lk gkeksZu ekuo uky }kjk 

lzkfor ugha gksrk gS\ 

(a) hCG  (b) Estrogens 

(c) Progesterone (d) LH 

 
 

55. dSfj;ksVkbi 2n  1 vkSj 2n   2 dh fLFkfr;k¡ 

dgykrh gSa 

(a) ,U;qIyksbMh  (b) i‚yhIyksbMh 

(c) ,yksiksfyIyksbMh  (d) eksuksl‚eh 

 

56. fldy lsy ,uhfe;k esa XywVkfed ,flM dk LFkku 

osfyu ys ysrk gSA fuEufyf[kr esa ls dkSu lk 

f=d osfyu ds fy, dksM gS\ 

(a) G G G  (b) A A G  

(c) G A A  (d) G U G 
57. dHkh&dHkh] ,d thu ,d ls vf/kd çHkko O;ä 

dj ldrk gSA ?kVuk dgykrh gS 

(a) eYVhiy ,yhfyTe  (b) ekstsfdTe 

(c) fIy;ksVª‚ih  (d) i‚yhtsuh 

 

58. esaMsfy;u Mk;gkbfczM Ø‚l dh F2 ih<+h esa 

QsuksVkbi vkSj thuksVkbi dh la[;k gksrh gS 

(a) QsuksVkbIl - 4;  thuksVkbi -16 

(b) QsuksVkbIl - 4;  thuksVkbi - 4  

(c) QsuksVkbIl - 4; thuksVkbi - 8  

(d) QsuksVkbIl - 4;  thuksVkbi - 9 
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59. In a DNA strand the nucleotides are linked 

together by 

(a) glycosidic bonds 
(b) phosphodiester bonds 

(c) peptide bonds 

(d) hydrogen bonds 

 

60. A nucleoside differs from a nucleotide. It 
lacks the  

(a) base                     (b) sugar  

(c) phosphate group     (d) hydroxyl group 

 
61. The first genetic material could be 

(a) protein  (b) carbohydrates 

(c) DNA  (d) RNA 

 

62. Animal husbandry and plant breeding 
programmes are the examples of 

(a) reverse evolution  

(b) artificial selection 

(c) mutation 

(d) natural selection 
 

63. Analogous organs arise due to  

(a) divergent evolution 

(b) artificial selection 
(c) genetic drift 

(d) convergent evolution 

64. Evolution of life shows that life forms had 

a trend of moving from 

(a) land to water  
(b) dryland to wet land 

(c) fresh water to sea water 

(d) water to land 

 
65. The chemical test that is used for diagnosis 

of typhoid is 

(a) pathogens (b) ESR-Test 

(c) PCR – Test (d) Widal-Test 

 
66. The disease chikungunya is transmitted by 

(a) house flies  

(b) Aedes mosquitoes 

(c) cockroach 

(d) female Anopheles. 
 

67. The genes causing cancer are 

(a) structural genes  

(b) expressor genes 

(c) oncogenes 

(d) regulatory genes 
 

59. DNA LVªSaM esa U;wfDy;ksVkbM ,d lkFk tqM+s gksrs 

gSa 

(a) XykbdksflfMd ckaM 

(b) Q‚LQksMkbLVj ckaM 

(c) isIVkbM ckaM 

(d) gkbMªkstu ckaM 

 

60. U;wfDy;kslkbM U;wfDy;ksVkbM ls fHkUu gksrk gSA 

bldk vHkko gS 

(a) {kkj             (b) “kdZjk 

(d) Q‚LQsV lewg     (d) gkbMª‚fDly lewg 

 

61. igyk vkuqoaf'kd inkFkZ gks ldrk gS 

(a) çksVhu   (b) dkcksZgkbMªsV 

(c) DNA  (d) RNA 

 

62. i'kqikyu ,oa ikni çtuu dk;ZØe blds 

mnkgj.k gSa 

(a) fjolZ boksY;w'ku  

(b) —f=e p;u 

(c) mRifjorZu  

(d) çk—frd p;u 

 

63. vuq:i vax mRiUu gksrs gSa 

(a vilkjh fodkl 

(b) —f=e p;u 

(c) vkuqoaf'kd cgko 

(d) vfHklkjh fodkl 

64. thou ds fodkl ls irk pyrk gS fd thou :iksa 

esa vkxs c<+us dh çof̀Ùk Fkh 

(a) Hkwfe ls ty ij 

(b) 'kq"d Hkwfe ls xhyh Hkwfe rd 

(c) ehBs ty ls leqæh ty rd 

(d) ty ls Hkwfe ij  

 

65. VkbQkbM ds funku ds fy, ç;ksx fd;k tkus 

okyk jklk;fud ijh{k.k gS 

(a) jksxtud  (b) ESR &ijh{k.k 

(c) PCR & VsLV  (d) foMky&VsLV 

 

66. fpduxqfu;k jksx fdlds }kjk QSyrk gS\ 

(a) ?kj mM+rk gS 

(b) ,Mht ePNj 

(c) frypêk 

(d) eknk ,uksQsyhtA 

 

67. dSalj mRiUu djus okys thu gSa 

(a) lajpukRed thu 

(b) O;ädrkZ thu 

(c) vksadksthu 

(d) fu;ked thu 
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68. The substance produced by a cell in viral 

infection that can protect other cells from 

further infection is 
(a) serotonin (b) colostrum 

(c) interferon (d) histamine 

 

 

69. Which of the following is not a lymphoid 
tissue? 

(a) Spleen  (b) Tonsils 

(c) Pancreas  (d) Thymus 

 
70. Which of the following glands is large 

sized at birth but reduces in size with 

ageing? 

(a) Pineal  (b) Pituitary 

(c) Thymus  (d) Thyroid 
 

71. The vitamin whose content increases 

following the conversion of milk into curd 

by lactic acid bacteria is 
(a) vitamin C (b) vitamin D 

(c) vitamin B12 (d) vitamin E 
 

72. Methanogenic bacteria are not found in 

(a) rumen of cattle  

(b) gobar gas plant 

(c) bottom of water-logged paddy fields 

(d) activated sludge 
 

73. Which one of the following is not a 

nitrogen-fixing organism? 

(a) Anabaena (b) Nostoc 
(c) Azotobacter (d) Pseudomonas 

 

74. An enzyme catalysing the removal of 

nucleotides from the ends of DNA is 

(a) endonuclease (b) exonuclease 
(c) DNA ligase (d) Hind II 

 

75. In agarose gel electrophoresis, DNA 

molecules are separated on the basis of 

their 
(a) charge only  

(b) size only 

(c) charge to size ratio  

(d) all of the above 
 

 

 

 

 
 

68. ok;jy laØe.k esa ,d dksf'kdk }kjk mRikfnr 

inkFkZ tks vU; dksf'kdkvksa dks vkxs ds laØe.k ls 

cpk ldrk gS og gS 

(a) lsjksVksfuu  (b) dksyksLVªe 

(c) baVjQsj‚u  (d) fgLVkekbu 

 

 

69. fuEufyf[kr esa ls dkSu lk fyEQksbM Ård ugha 

gS\ 

(a) Iyhgk   (b) V‚fUly 

(c) vXU;k'k;  (d) Fkkbel 

 

70. fuEufyf[kr esa ls dkSu lh xzafFk tUe ds le; cM+s 

vkdkj dh gksrh gS ysfdu mez c<+us ds lkFk 

vkdkj esa de gks tkrh gS\ 

(a) ihfu;y  (b) fiVîwVjh 

(c) Fkkbel   (d) Fkk;jkbM 
 

71. og foVkfeu gS ftldh ek=k ySfDVd ,flM 

cSDVhfj;k }kjk nw/k dks ngh esa cnyus ds ckn c<+ 

tkrh gS 

(a) foVkfeu C  (b) foVkfeu D 

(c) foVkfeu B12  (d) foVkfeu E 
 

72. ehFksukstsfud cSDVhfj;k ugha ik, tkrs gSa 

(a) eosf'k;ksa dk :esu 

(b) xkscj xSl la;a= 

(c) ikuh ls Hkjs /kku ds [ksrksa ds uhps 

(d) lfØ; dhpM+ 

73. fuEufyf[kr esa ls dkSu ukbVªkstu fLFkjhdj.k djus 

okyk tho ugha gS\ 

(a) vukcsuk  (b) uksLV‚d 

(c) ,tksVkscSDVj  (d) L;wMkseksukl 

 

74. DNA ds fljksa ls U;wfDy;ksVkbM dks gVkus dks 

mRçsfjr djus okyk ,d ,atkbe gS 

(a) ,aMksU;wfDyt  (b) ,DlksU;wfDyt 

(c) Mh,u, fyxst  (d) fgan II 

 

75. ,xjkst tsy oS|qrd.klapyu esa Mh,u, v.kqvksa dks 

muds vk/kkj ij vyx fd;k tkrk gS 

(a) dsoy pktZ   

(b) dsoy vkdkj 

(c) pktZ Vw lkbt vuqikr  

(d) mijksä lHkh 
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76. While isolating DNA from bacteria, which 

of the following enzymes is not used? 

(a) Lysozyme  
(b) Ribouclease 

(c) Deoxyribonuclease 

(d) Protease 

 

77. Bt cotton is not 
(a) a GM plant  

(b) insect resistant 

(c) a bacterial gene expressing system 

(d) resistant to all pesticides 
78. 1antitrypsin is 

(a) an antacide  

(b) an enzyme 

(c) used to treat arthritis 

(d) used to treat emphysema 
 

79. What parameters are used for tiger census 

in our conuntry’s national parks and 

sanctuaries? 

(a) Pug marks only  
(b) Pug marks and feacal pellets 

(c) Faecal pellets only 

(d) Actual head counts 
 

80. Which one of the following is not a feature 

of biodiversity hotspots? 

(a) Large number of species 

(b) Abundance of endemic species 
(c) Mostly located in the polar regions 

(d) Mostly located in the tropics 

76. cSDVhfj;k ls Mh,u, dks vyx djrs le; 

fuEufyf[kr esa ls fdl ,atkbe dk mi;ksx ugha 

fd;k tkrk gS\ 

(a) ykblkstkbe 

(b) fjcksDyht 

(c) Mhv‚DlhjkbcksU;wDyht 

(d) çksVht 
 

77. Bt cotton ugha gS 

(a) ,d th,e la;a= 

(b) dhV çfrjks/kh 

(c) ,d thok.kq thu O;ä djus okyh ç.kkyh 

(d) lHkh dhVuk'kdksa ds çfr çfrjks/kh 

 

78. ,aVhfVªfIlu gS 

(a) ,d ,aVklkbM 

(b) ,d ,atkbe 

(c) xfB;k ds bykt ds fy, ç;ksx fd;k tkrk gS 

(d) okrLQhfr dk bykt djus ds fy, ç;ksx 

fd;k tkrk gS 
 

79. gekjs ns'k ds jk"Vªh; m|kuksa vkSj vHk;kj.;ksa esa 

ck?kksa dh x.kuk ds fy, fdu ekinaMks a dk mi;ksx 

fd;k tkrk gS\ 

(a) dsoy ix fpà 

(b) ix fpà vkSj ey ds NjsZ 

(c) dsoy ey NjksaZ 

(d) okLrfod gsM dkmaV 
 

80. fuEufyf[kr esa ls dkSu lh tSo fofo/krk g‚VLi‚V 

dh fo'ks"krk ugha gS\ 

(a) çtkfr;ksa dh cM+h la[;k 

(b) LFkkfud çtkfr;ksa dh çpqjrk 

(c) vf/kdrj /kzqoh; {ks=ksa esa fLFkr gSa 

(d) vf/kdka'kr% m".k dfVca/k esa fLFkr gS 
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